Rittal - The System.

Faster — better — evervwhere.

HanonbHbie nynbTbl

One-piece consoles

Pupitres monobloc
Lessenaars

Golvpulpeter

Pulpito compatto

Pupitres Compactos

VE— LU /E—Rayy—)b

TP 6746.500
TP 6748.500
TP 6740.500
TP 6742.500

PyKoBOACTBO MO MOHTaXKy M 3KCrjiyatayum
Assembly and operating instructions
Notice de montage et mode d’emploi
Montage- en bedieningshandleidning
Montage- och bruksanvisning

Istruzioni di montaggio e uso
Instrucciones de montaje y empleo

NG G

- ENCLOSURES POWER DISTRIBUTION CLIMATE CONTROL IT INFRASTRUCTURE SOFTWARE & SERVICES RITTAL -
N

FRIEDHELM LOH GROUP -....




® '

/ o “ AP
/.4 © \ AN
/ ﬂ w
N b\
\ I\ \ /I/f
&

G &




g 1 x 200 H crar.

"

cnesa/left: 130 H ctart.
cnpasa/right: 200 H cTaT.

g 1 x 1500 H crar.

g 1 x 1750 H crar.

1x 1x 12
15,6 4 x 4 x 4
M6 2x 3x 9
M8 x 30 1x 1x 18
—
H—
M6 x 12 2x 3x 18
28,2 1x 1x 18
6,1 2x 3x 18
) M8 3x 4x 18
®
M6 2x 3x 18
A8,4 2 X 3x 18
©
AB,4 2x 3x 18
)
62 A8 2x 3x 18
@ 4 x 6 x 18

HanonbHble nynsThl Rittal PykoBoacTBO N0 MOHTaXKy



4x015,6

4 HanonbHble nynbTbl Rittal PykoBoACTBO MO MOHTaxKy



HanonbHble nynsTol Rittal PyKoBOACTBO MO MOHTaXKy



6 HanonbHble nynbTbl Rittal PykoBoACTBO MO MOHTaxKy



BHumanwme! OnacHoCTb pasfpasnvBaHis.
' / MOHTaXX 1 SKCrnyaTaLms ToNbKo B COOTBET-
. = CTBUN C PYKOBOLACTBOM.

Attention! Squeezing danger.

Assembly and operating only in accordance
with operating manual.

HanonbHble nynsTol Rittal PyKoBOACTBO MO MOHTaXKy




BHumanwme! OnacHoCTb pasfasnvBaHis.
MOHTaXX 1 aKkcrnyaTaums TONbKO B COOTBET-
CTBUN C PYKOBOLACTBOM.

Attention! Squeezing danger.
Assembly and operating only in accordance
with operating manual.

HanoneHble nynbtol Rittal PykoBoaCcTBO MO MOHTaXyY



| [SWO

HanonbHble nynsTol Rittal PyKoBOACTBO MO MOHTaXKy 9



TX25

SW13

10

Han

onbHble NynbTol Rittal PykoBoacTBo no MoHTa

DKy



SW8

&F=3500H

SO 2817.000 TS 8601.450

HanonbHble nynsTol Rittal PyKoBOACTBO MO MOHTaXKy 11



12

7 MM 2460.000
O,

8 Mm 2461.000

6,5 MM 2460.650
@ 7 MM 2462.000

8 MM 2463.000
= -—)a 2464.000
@ Daimler 2465.000
G 3m 2466.000
@ Fiat 2307.000

SZ 2576.000/2533.000

HanoneHble nynbtol Rittal PykoBoaCcTBO MO MOHTaXyY



HanonbHble nynsTol Rittal PyKoBOACTBO MO MOHTaXKy 13



TX25

TS 4116.000/4118.000/4124.000

—1

600/1200 800 1000

[A] 8612.050 - 8612.040

[B] 4596.000 4598.000 4309.000
TX25 SW10

Mp = 4 Hm

14

600 800 1000 1200
[A] 5001.050 5001.051 5001.052 5001.053
B] 8612.040

C] 4309.000

HanoneHble nynbtol Rittal PykoBoaCcTBO MO MOHTaXyY



SW10

TX25

[l [0l ]

@

HanonbHble nynsTol Rittal PyKoBOACTBO MO MOHTaXKy

400
[A] 5001.051
[B] 8612.140
I 4694.000
D] 4169.000
A
“’
600 800 1000 1200
[E] 8612.060 8612.080 8612.000 8612.020
[F] 8800.130 4579.000 - -
gl 8800.330
[H] 4376.000 4377.000 4378.000 4387.000

15



5 SW10 SW13 _q
/ . . o9

m/ CM 5001.075

[(1.2] <+
Ceepxy/ -
Top

My SUHaMUYeCKow Hal’pySKeED
During dynamic load

09

M8x2(; W

Mp = 20 Hwm

16 HanoneHble nynbtol Rittal PykoBoaCcTBO MO MOHTaXyY



ApT. Ne
600 573
800 773
6731.120
1000 973
1200 1173

2x05x14

Mp = 1,5 Hv Mp = 2 Hm

HanonbHble nynsTol Rittal PyKoBOACTBO MO MOHTaXKy 17



SW10

SW13

[2] hepu? X TK = 8,1 x 108 A2C

M8 x 30 1x
—
1
M6 x 12 1x 1x
8,2 1x
@6,1 1x 1x
M8 X 2X
©
M6 1x 1x
A 8,4 1x 1x
‘ A64 1x 1x
,@ A8 X 1x
@ X 1x 1x 1x

18

Mp 8 =10 Hwm

S
. ..
(M) M8 x 30
U

Mp 10 — 12 Hwm

SZ 2564.000 — SZ 2569.000

HanoneHble nynbtol Rittal PykoBoaCcTBO MO MOHTaXyY



anonbHble NynsTol Rittal PykoBoacTBo No MoHTa

DKy

600

800

1000

1200

BT (AT=20K)

328

378

19



Rittal - The System.

Faster — better — evervwhere.

m Kopnyca

B OnekTpopacnpeneneHme
B KOHTPOb MUKPOK/IMMaTa
m [T-vHpacTpyKTypa

m [10 v cepBuUC

10.2011/A4066901TP73

000 "PwutTan"
Poccus - 125252 - . MockBa, yn. ABrakoHCTpykTopa MukosiHa, A. 12 (4-i aTax)

Ten.: +7 (495) 775 02 30 - ®akc: +7 (495) 775 02 39
E-mail: info@rittal.ru - www.rittal.ru ﬂ
- ENCLOSURES POWER DISTRIBUTION CLIMATE CONTROL IT INFRASTRUCTURE SOFTWARE&SERVICES RITTAL -

FRIEDHELM LOH GROUP -....




